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Show your work in detail and write neatly and eligibly
1.  A 95 percent confidence interval estimate will have a margin of error that is approximately + 95 percent of the size of the population mean.

Answer: False

2.  Increasing the sample size will result in a point estimate that is closer to the true population value.

Answer: False

3.  In estimating a population proportion, the factors that are needed to determine the required sample size are the confidence level, the margin of error and some idea of what the population proportion is.      

Answer: True

4.   The margin of error is:     
a.   the largest possible sampling error at a specified level of confidence.

b.   the critical value times the standard error of the sampling distribution.

c.   Both a and b.
d.   the difference between the point estimate and the parameter.

Answer: C

5.   An intern working for a food processing company has submitted a report in which he says that the company should use a sample size of 460 to estimate the mean weight of a packaged product.  The report further states that the confidence level would be 95 percent and that he has assumed that the population standard deviation for the product weights is 0.3 pounds.   However, he did not state anything about the margin of error that was used.  Based on the above information, what margin of error is implied by the suggested sample size?     


a.   + 1.16 pounds approximately.


b.   About 0.0008 pounds.


c.   Approximately + 0.027 pounds.


d.    None of the above.

Answer: C

6.   Suppose that an internal report submitted to the managers at a bank in Boston showed that with 95 percent confidence, the proportion of the bank’s customers who also have accounts at one or more other banks is between .45 and .51.   Given this information, what sample size was used to arrive at this estimate?      


a.    About 344.


b.    Approximately 1,066.


c.    Just under 700.


d.    Can’t be determined without more information.

Answer: B
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1.  All other factors held constant, the higher the confidence level, the closer the point estimate for the population mean will be to the true population mean.

Answer: False

2.  In estimating a population mean, increasing the confidence level will result in a higher margin of error for a given sample size.

Answer: True

3.  For a given sample size and a given confidence level, the closer p is to 0.1, the greater the margin of error will be.     

Answer: False

4.   Which of the following statements is true with respect to the confidence level associated with an estimation application?     
a.   The confidence level is a percentage value between 50 and 100 that corresponds to the percentage of all possible confidence intervals, based on a given sample size, that will contain the true population value.

b.   The probability that the confidence interval estimate will contain the true population value.

c.   The degree of accuracy associated with the confidence interval estimate.

d.   None of the above.

Answer: A

5.   A study has indicated that the sample size necessary to estimate the average electricity use by residential customers of a large western utility company is 900 customers.   Assuming that the margin of error associated with the estimate will be + 30 watts and the confidence level is stated to be 90 percent, what was the value for the population standard deviation?    

a.   265 watts.

b.   Approximately 547.1 watts.

c.   About 490 watts.

d.    Can’t be determined without knowing the size of the population.

Answer: B

6.   A sample of 250 people resulted in a confidence interval estimate for the proportion of people who believe that the Federal Government’s proposed tax increase is justified is between 0.14 and 0.20.   Based on this information, what was the confidence level used in this estimation?     

a.   Approximately 1.59.

b.   95 percent.

c.   Approximately 79 percent.

d.   Can’t be determined without knowing 
[image: image1.wmf]s

.

Answer: C
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